A3 37 FAA 3393 @Y 1108 &R % - F8 %150 8 %3

;F ; ENE3 BlE Bl ¥ 7 ;: AL
12 ]9 b Fp i R L E <k F pEsE () ENE-E-} .5
1| SF | EBECERE T CAS) 15K |FER (R A)  4.5Kg| BT e 22Kg |ELEZEWIR) 5K 105| & & ¢ 3% .6
6 | B [memmonsnTcas) ok [y mmocT R a8 | AGEGER)  0.3Kg|BeEiék(ka) 2Kg 595 (g) e 5
p HEWIR) 6Ke [FEREHT 3Kg RE4 1Kg 25.8| g 3
P FHIMEE T (CAS) 6Kg |EHEEE/IN T 1Kg HHEE R 1Kg 0 F(g)| kE# 0
#p M (SL-6H/AE) LA | ARk 0.3Kg FERRRAI(A%R)  1Kg 39.7|  miE 0
- EER 0.3Kg FEE (ORHE) 1Kg #BE(LH)
K = B4 0.2Kg 811
280
127 ERp S 8537 5% SE-RLE3 vheg B K F PR () EREE -9
1| FK BEAEIUNAR) 20Kg| s T (T 5E5E) 12K [hsEtEs 20Kg | (B4 7 fEF (R IU)-#5 2% 1202 & ¢ 347 3
7 = PR 5Ky | R4 (FHA B ET) 9Kg | AFR(FEAR) 0.2Kg|5&# (KH) 2Kg 5 95(g) FE .5
p EHEEE R 2Kg |HHEEE) 4% 2Kg L (3K) 12 o4| i 5
-3 EEAMEE(Q.7K)  LHE S EmEiiisg 1Kg s £ 2 (300g/a) 16 30 (e)| kwa 0
2 HHE 0.5Kg HHE 0.2Kg 37.5| dmig
= KFRGERAR) 0.2Kg BE(AH)
& B AR 0.1Kg 846
280
12 |9 ioit kg B A Vg Ey ¥ 4 () ERE-E- 7.8
s | R (e " 45Kg FEINEHEH(CAS)  280fiE | HTESE4 M (CAS) 25Kg | HEZE (kg) 5Kg 125.5| 2 & ¢ 47 2.5
8 | B lpmam@m)  12kg S 2Kg |4 HEAAI(CAS)  4Kg win(g) | EEN 1.7
p AT 6Kg K (FrAR) 0.2Kg|E82ZE(NT) 4Ky 20 b g fE 2.5
% SeEthT 5Kg PR 3.5Kg o R ()| kE# 0
2y =@ (CAS) 3Kg EREE(IK) 28 34.8| iy 0
= BRERE S-S5 10 SKEET (V15 2K RR) 1Kg BE(AH)
% R (2.7kg) 1% HHEEE/INT 1Kg 821.2
280
12 -1 AR5 G ERE3 B A E maE(g) | L4 7
I S Y E (o) 280/ |#t&=(kg) 14Kg|/NESEIE, 22Kg | B ZEEFT 8Kg 11| 2 & ¢ 3% 3
9 | &< BE 10Kg | AEEGER) 0.3Kg| K#m sk (B Fi7E) 3Kg 59%(g) FER .2
n R 0.3Kg % REKBEBE(CAS) 3Kg 24| s 3
kS TS 3Kg 30 T ()| k% 0
2 FEE (R 2Kg 36.2| muE
L FreER 0.3Kg BE(GH)
% ¥ 804. 8
280
129 ok 3 A R %3 SR PERE(2) a4 .5
v | SE |MEbEBEDG(cas)  280%: (WekETTEIE: 16Kg |35 EIES 24Kg | —HP(1kg) a8 135.5) 2 o ¢ 34 3
10 | £ |hsgpaaeha)-se st | HETFR) 4K KFRGEER) 0.3Kg |45 5.5Kg 5 95(g) - .6
p IS 0.2Kg [FEH1%HEAI(A4R) 3K Hez 2Kg 21.5| e )
3 AR 25 9 F(g)| k*& 0
o EREE R4 1.5Kg 39.6| 4y
I HE 0.4Kg BE(AH)
% 893.9
280

Wk TR BBEE ¢ 04-8613339 {HE : 04-8613336
MAFHER R WAL B
Hde £ 4 7}&%‘ . W




